 EQ 5\b(x+1,4y)-0,8\b(2x+y) =
Раскрываем скобки.

= EQ  \b(5x+7y)-\b(1,6x+0,8y) =

Раскрываем скобки.

= EQ  5x+7y-1,6x-0,8y =

Приводим подобные члены.

= EQ  3,4x+6,2y 
 EQ -a+0,5\b(3a+0,2b)-\b(a+0,1b) =

Раскрываем скобки.

= EQ  -a+0,5\b(3a+0,2b)-a-0,1b =

Приводим подобные члены.

= EQ  \b(-2)a+0,5\b(3a+0,2b)-0,1b =

Выносим знак минус из произведения.

= EQ  -2a+0,5\b(3a+0,2b)-0,1b =

Раскрываем скобки.

= EQ  -2a+\b(1,5a+0,1b)-0,1b =

Раскрываем скобки.

= EQ  -2a+1,5a+0,1b-0,1b =

Приводим подобные члены.

= EQ  -0,5a 
